PHYS 102:General Physicsl KOC UNIVERSITY Spring Semester 2016

College of Sciences

Section 1 Quiz S 11 March 2016

Closed book. No calculators are to be used for this quiz.

Quiz duration: 10 minutes
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cord as shown in the figure. The block is pulled up a wedge that makes an angle @ |
with the horizontal at a constant accelaration a. If the cord makes a constant angle 0 |
the perpendicular to the ceiling, what is a in terms of @, ® and gravitational
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Section 2 Quiz 5 ( 11 March 2016

Closed book. No calculators are to be used for this quiz.
Quiz duration: 10 minutes
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?A'particlg;-; of mass m rotates, at a constant speed on a circle of radius 1, on a wedge
 with static friction coefficient p,, firmly attached to a vertical rod rotating at a g
i

- constant angular frequency . Find the condition on © for which the particle remains
jatconstantheight, . ... .. .. ... .. . e
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FA particle of mass m remains at a constant height on a frictionless wedge, firmiy
Eatta§hed to a vertical rod rotating at a certain constant rate. Find the velocity of the
 particle in terms of the parameters 8, L shown in the figure and the gravitational
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